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QUESTION 1

Refer to the exhibit. 

Exhibit Switch configuration 

A network administrator is configuring an aggregated link between an HP Comware and ProVision switch. 

The network administrator applies the configurations to the switches, as shown in the exhibit. The two links on the both
switches are up, and they can see each other on both links in the local LLDP table. 

What will be the outcome? 

A. The ProVision switch must initiate LACP for the link become active 

B. Link aggregation fails because the VLAN tagging was not configured correctly 

C. The Commware switch must initiate LACP for the link to become active 

D. Link aggregation fails because of a protocol issue 

Correct Answer: C 

 

 

QUESTION 2

Which statement is true about wireless technologies? 

A. 802.11n uses MIMO technology to improve data rates 
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B. 802.11g uses GIGO technology to improve security. 

C. 802.11b/g use an 802.11a-compatible frequency. 

D. 802.11a uses the less crowded 2.4 GHz range. 

Correct Answer: A 

IEEE 802.11n is an amendment to IEEE 802.11-2007 as amended by IEEE 802.11k-2008, IEEE 802.11r-2008, IEEE
802.11y-2008, and IEEE 802.11w-2009, and builds on previous 802.11 standards by adding multiple-input multiple-
output (MIMO) and 40 MHz channels to the PHY (physical layer), and frame aggregation to the MAC layer. MIMO is a
technology that uses multiple antennas to coherently resolve more information than possible using a single antenna.
One way it provides this is through Spatial Division Multiplexing (SDM), which spatially multiplexes multiple independent
data streams, transferred simultaneously within one spectral channel of bandwidth. MIMO SDM can significantly
increase data throughput as the number of resolved spatial data streams is increased. 

 

QUESTION 3

A network administrator has purchased the first HP Comware for a company. The network administrator has never used
the CLI of a Comware device before and needs to perform specific management functions. Which action requires the
network administrators to be in user view to execute from the Comware switch? 

A. Verify connectivity with transactions or ping tools 

B. Verify files located in flash memory 

C. Execute the display commands 

D. Create a VLAN and assign ports to it. 

Correct Answer: B 

 

 

QUESTION 4

Match the description with the 802.11 standard (each option can only be used once). 

Hot Area: 
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Hot Area: 
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Correct Answer: 
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Explanation/Reference:

Is backward compatible with another 802.11 standard 

 

QUESTION 5

Refer to the exhibit. 

Exhibit Comware switch output. 
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A network administrator has implemented link aggregation on an HP Comware switch using LACP. 

Assume the two ports are functioning at the data link layer between the Comware switch neighboring switch. The
network administrator execution display link-aggregation verbose command and notices the flag of AG for the two links.
As 

shown in the exhibit. 

What does this indicate? 

A. The link is marked as a backup because there are already eight active links in the aggregation 

B. The link is up, but LACP failed the negotiation on the port 

C. The link is down 

D. The link is up, but LACP has been disabled on the port. 

Correct Answer: B 

Port Status: S -- Selected, U -- Unselected 

Flags: A -- LACP_Activity, B -- LACP_Timeout, C -- Aggregation, 

D -- Synchronization, E -- Collecting, F -- Distributing, 

G -- Defaulted, H -- Expired 

The flag is a one-octet LACP state flags field. From the least to the most significant bit, they are represented by A
through H as follows: 

A indicates whether LACP is enabled. 1 for enabled and 0 for disabled. B indicates the timeout control value. 1 for short
timeout, and 0 for long timeout. C indicates whether the link is considered as aggregatable by the sending system. 1 for 

true, and 0 for false. 

D indicates whether the link is considered as synchronized by the sending system. 1 for true, and 0 for false. 

E indicates whether the sending system considers that collection of incoming frames is enabled on the link. 

1 for true and 0 for false. 
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F indicates whether the sending system considers that distribution of outgoing frames is enabled on the link. 

1 for true and 0 for false. 

G indicates whether the receive state machine of the sending system is using default operational partner information. 

1 for true and 0 for false. 

H indicates whether the receive state machine of the sending system is in the expired state. 

1 for true and 0 for false. 
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